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- Grey line: exponential fit Peak flux: 1.031+/- 0.351 c/s/cm? N
r Black line: power law + gauss fit Fluence : 10.09+/- 2.86 c/cm? —
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E Power law index: -0.445+/- 0.091 (chi*red= 1.19) =
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—  Power law fit plus Gaussian (st.dev.= 8.53+/- 1.43 s, fracgs= 0.00+/- 0.00) =
- Power law index: **x*xxxt[ xxxxxxx (chj-red= -1.00) -
- + } bt it + T :
= W (T ****H*:#HWﬁHﬁﬁ b " e +**+ﬁH**+ﬁH+*H*+ﬁﬁ**+ﬂﬁ+*++++Hg*HﬁH*++***ﬁﬁ*WW% +++**HHﬂﬂ+1#++*ﬁ*ﬁﬂ#**WWW sy bl Hﬁﬂﬁﬁﬁﬁﬁ*ﬁﬁﬁ%
- + P + -
E 1 L L L L L L L L L 1 L L L L L L L L L 1 L L E
0 100 200 300

Time [s]



